Aivetail ot Qd=120-4*P ka1 Qs=60+4*P. H Ty kat
noootTNnNtTa toopportiac fa sivac:




Aivetal oti: Qd=150-2*P kat Qs=80+4*P. Tt 6a cuuBei av To
Kpatocg eruBaiel tiun ion pe 30 svpw;




Aivetal oti: Qd=260-2*P ka1t Qs=120+6*P. NMoiwa 6a eival n Kpatikn
erupapuvon av To KPAtog opioel Tiun ion pe 50 evpw;




Qd=220-2*P Qs=130+4*P. TeA. kpat. erupapuvvon=; av To Kparog BaAet tiyn 40
ELPW Kal TTOVANROEL TO TTIAeOvacua yia 10 svpw;




Aivetal oTti: Qd=140-2*P kat Qs=60+4*P. Tt 6a cuuBei av to
Kpatocg emPaiel Tiyn ion pe 10 evpw;




Aivetail oti: Qd=120-2*P kat Qs=80+4*P. No1o 1o YHEYIOTO KATIEAO AV

TO KPATOG EMIPAAEL TIUN ion HE 5 evpw;




‘Eotw: Qd=100-2*P ka1 Qs=80+4*P. Noiwa eivar n pyéyrotn tiun Pk av

TO KPATOC £MIBAAEL TIUN lON UE 2 ELPW;




